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4) f(a) aj-t-gd;%!ﬁwk 2 ata=-
N~ -:w“' I — :.- B
o2 COE

5) flay=a*+3a°-17a* +2a-7 ata=3 6) f(x)=x" =472 = 162" +8x+52 atx=7

£(5)= 8 )= 1D

Directions: State if the given binomial is a factor of the given polynomial.

DK -K k-2 = (k-2) 8) (b*—8b° —b* +62b-34) = (b-7)
‘F(Z)‘-': O \-)CS \. ‘F('\\T’- % NO\.
9) (n* +9n° + 14n° + 50n +9) = (n + 8) 10) (p* +6p° + 11p% +29p— 13) = (p+5)

‘G(’%\ - -‘_) NO ‘_ _( (-,(‘:j“) - _..% NO\.

1) (p*=8p' +10p° +2p+4) = (p-2) 12) (n* =250° =Tn* =370 -18) = (n + 5)
f@=0 . yes | Te5) =g N0k
L 13) (x* +6x* = 3x" = 22x-29) = (x +6) 14) (n* + 100" + 210" +6n-8) = (n +2)

| flo)= -5 wo. f2)= 0 yes

/

Bii‘acﬁon'.;‘ Divide the following.
16) (8% - 66k2+14k+8) (k-8)
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